Name: ___________________________________ Date: _____________________
DIRECTIONS: Please complete all of the following questions.  If you do not know something, DO NOT LEAVE IT BLANK.  Make an educated guess.  There will be partial credit.  DO NOT look at anyone else’s paper.  If you are caught cheating, there will be major problems.  Remember to budget your time.  If you don’t get something, skip it and come back! Good luck and enjoy!
Part I: Multiple Choice (25 pts. total, 5 pts. each) 

Circle the answer to the question.  If more than one is circled it will not be counted.

1. The number of electrons an atom can lend or borrows is called its?
a) elemental number
b) oxidation number
c) chemical number
d) nonmetal number
 e) metal number
2. Sodium has an oxidation number of +1 (Na +1).  This means sodium can lend ____ electron.
a)  0


b)  1


c)  3


d)  5


e) 8
3. Metals have ____ electronegativities.
a) low


b) high


c) medium

d) no


e) reversing
4. Group V elements have a oxidation number of
a) + 1


b) +2


c) +3


d) -3


e) -1
5. All of the following are molecular compounds EXCEPT
a) CO2


b) CO


c) SO3


d) NO


e) FeSO4
Part II: Modified True or False (25 pts. total, 5 pts. each)

The following statements are either TRUE or FALSE.  If the statement is TRUE, just write TRUE.  If the statement is FALSE, correct the statement by changing the underlined word to make it TRUE.

1. _____ A chemical change does not change the way the atoms are linked up.

2. _____ In a chemical reaction there is always a change in the number of elements.
3. _____ A minus (-) sign means that atom borrows electrons.
4. _____ Oxidation numbers must always equal zero (0).
5. _____ The prefix Tetra means six.
 Part III: Naming (30 pts. total, 3 pts. each)

Using the table below (if necessary), name the following compounds. 

Polyatomic Ions

	nitrate
	NO3 -1
	chromate
	CrO4 -2

	chlorate
	ClO3 -1
	dichromate
	Cr2O7 -2

	sulfate
	SO4 -2
	phosphate
	PO4 -3

	carbonate
	CO3 -2
	acetate
	C2H3O2 -1

	hydroxide
	OH -1
	cyanide
	CN -1

	ammonium
	NH4 +1
	 
	 


1. CaCO3
2. FeSO4
3. NH4NO3
4. CaC2O4
5. NaHSO4
6. CO2
7. CO

8. N2O

9. N2O5
10. PCl3
Part III: Short Answer (20 pts. total, 5 pts. each) 

Answer the following questions using complete and full sentences.  Points will be deducted for incomplete sentences.

1. Describe how you can obtain the oxidation number of an element.

2. Write the word equation for the reaction: carbon plus oxygen produces carbon dioxide.
3. Calcium (Ca) links up with iodine (I) to form a compound called calcium iodide.  Write the formula for this.
4. The oxidation number of gold is +1 (Au +1) and the oxidation number of sulfur is -2 (S-2).  Write the formula when gold and sulfur combine to form the compound gold sulfide.
NOT PART OF THE TEST!
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